[1] The weights w of two-thirds of the members of a population satisfy the inequality
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[2] Determine algebraically if the graph of xzy =4 is symmetric over the ) — axis.
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(3] Find the domain of the function fi(x) =~+5—Tx .
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[4] Find the X — intercepts of the function g(x)=9x> —3x—1,
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<1, where w is measured in pounds. Determine the interval(s) on the real number line in which lhese wcrghts lle
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(5] The cost C in dollars of producing 71 computer laptop bags is given by C =1.251+15,750.

Explain what the C — intercept and slope measure.
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2x+7, x<-1
[6] Evaluate p(x) =43 - 2x%,—1 < x £3 at each specified value of the independent variable below.
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[8] Find the slope-point form of the equétion of the line ANSWER:

through the point (=11, 7) perpendicular to the line 4x —6y = —5.
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